FEANBNESNXRETESE B-SE—Ht
(8) $HI044£04 H01H (Z) 71054038318
(B4 : [)
BEFH FEWN EX-AG) EE M) -6) E=
SEIA 1,200,000 1,164, 150 35, 850
Zrbt 2 IR A 1, 000, 000 419, 632 580, 368
BEEBHBSINA 15, 248,000 15,344,300  A96, 300
ZESIWA 30,521,000 30,539,137  A18,137
EETIIN 2,856,000] 2,761,074 94, 926
NI ERIEEEIA 214,557, 000] 212,101, 672 2, 455, 328
% EEEuvy—CcXEBERA 4,608,000 _4,723,080] _AT15, 080
= [SHIFSEYSINA 10, 000 3,599 6, 401
W | ZOOIRA 380.000[ 512,490 A132,490
& |BEEFHIRAG (1) 270, 380, 000| 267,569, 134] 2,810, 866
R 217,997, 844| 216, 485,320[ 1,512,524
=| [BEERXH 33,334, 108| 32,263,345 1,070,763
EEER M 17,112,048] 15,037,993 2,074, 055
FERSSRASELE 396, 000 395, 500 500
BR & X 914, 000 873, 569 40, 431
BRI 3,150,000] 2,837,120 312, 880
EEFHIHE Q) 272,904,000 267,892, 847] 5,011, 153
EEIHELINTEMEQ)=(1)-2)| A2,524,000] A323,713] A2, 200, 287
liE BB HFRAG (4 0 0 0
B e 570, 000 504, 240 65, 760
i RS s % X2 AT () 570, 000 504, 240 65, 760
SRR EEESINKES A570,000] AB04,240[  AG5,760
@(6)=(4)—(5)
%
7 BT B ARA 7.250,000] 6,837, 120 412, 880
PNZ DA DEEIIAZ (7) 7,250,000 6,837, 120 412, 880
o| [BEEEIEERH 10, 000 3,564 6, 436
e T B S 1, 000, 000 419, 632 580, 368
I Z D OES) = &k DX 20, 488, 000| 20, 451, 952 36, 048
5 _Z Dt FEBX izt 8) 21,498, 000| 20, 875, 148 622, 852
IREDDEDESINEELE A14,248,000(A14,038,028] 2209, 972
%((9)=(7)-(8)
P {EEH (10) 0 0 0
LRSI EEAE A17,342,000{A14, 865, 981| A2, 476,019
(11)=(3)+(6)+(9) - (10)
BIEAXILES RS (12) 17,342, 000[ 113, 418, 351] A 96, 076, 351
LIRFHESES (11)+(12) 0| 98,552, 370[ A98, 552, 370




